
$UWLFOHV RI �DQG DERXW� 3DXO (UGR̀V LQ =HQWUDOEODWW 0$7+

=EO ���������
(UGR̀V� 3DXO
3UREOHPV DQG UHVXOWV LQ JUDSK WKHRU\ DQG FRPELQDWRULDO DQDO\VLV� �,Q (QJOLVK�
*UDSK WKHRU\ DQG UHODWHG WRSLFV� 3URF� &RQI� +RQRXU :� 7� 7XWWH�
:DWHUORR�2QW� ����� ������� �������

)RU WKH HQWLUH FROOHFWLRQ VHH =EO ����������

&ODVVLzFDWLRQ�
��&[[ *UDSK WKHRU\
����� 3URFHHGLQJV RI FRQIHUHQFHV �FRPELQDWRULFV�
��$[[ &ODVVLFDO FRPELQDWRULDO SUREOHPV
��$�� 3UREOHP ERRNV

.H\ZRUGV�
SUREOHPV

Fc(XURSHDQ 0DWKHPDWLFDO 6RFLHW\ 	 ),= .DUOUXKH 	 6SULQJHU�9HUODJ


